B 55 RE A

BfEHA . A0 54E 9H17TH (H) B8 MY — BRI
BEE . WU TR SN 106N (B#E 96 A - Lotk : 9N)
HDCP E R : 99
fLE—L 0T O@@DR®O® IN DRBBB® (1/3)
FINEAZIRE « s (K& VWIE) Fll . %0 54 9A17H (H)
JIE 57 = INH 4 oUT IN GROSS | HDCP NET i &
L 7 | Er — B 49 47 9 | 26.4 | 69.6 |HAY
2 A &S IEA 41 41 82 10.8 71.2 |HAEY
3 | RIR 52 41 41 82 10. 8 71.2 |{HAY
4 47 | B 48 44 92 20. 4 71.6 |EHY
5 N | AR 46 51 97 25. 2 71.8 | EAY
6 1 |1 2 38 41 79 7.2 71.8 | HAHY
7L | AT B2 44 47 91 19.2 71.8 |HAY
8 AL | &1 1E 45 45 90 18.0 72.0 |'HAY
9 fir | FAH EEE 39 45 84 12.0 72.0 |'HAY
10 A7 | 1EHI) 42 47 89 16.8 72.2 |EHY
11 A7 | & AT 43 46 89 16.8 72.2
12 f7 |3+ B 45 38 83 10. 8 72.2
13 A7 |FAH BEF] 44 45 89 16.8 72.2
14 7 | HH 39 43 82 9.6 72.4
15 {7 | FH 9 48 40 88 15. 6 72.4 |EHY
16 A7 | —HP 52 46 98 25. 2 72.8
17 AL | A R 39 41 80 7.2 72.8
18 fif | IUfZ & 52 45 97 24. 0 73.0
19 A7 | FE ALK 48 49 97 24. 0 73.0
20 7 [#A7K Yk 41 44 85 12.0 73.0 |EAY
21 7 (AT B 43 41 84 10. 8 73.2
22 A | )R8y BEFD 48 48 96 22.8 73.2
23 i | KN IEZ 44 45 89 15.6 73. 4
24 L |'BK B 39 43 82 8.4 73.6
25 N7 | 4 PR 46 42 88 14. 4 73.6 | HAY
26 I | WA FEZE 49 51 100 26. 4 73.6
27 AL | R (A 45 42 87 13.2 73.8
28 AL | A 1IEA 50 37 87 13.2 73.8
29 7 |HY A+ 44 43 87 13.2 73.8
30 7 | R KRS 48 45 93 19.2 73.8 | EAY
31 fif | KA AR 43 42 85 10. 8 74.2
32 fiL | AT A 47 44 91 16.8 74.2
33 N\ |k I 49 48 97 22.8 74.2
34 AL |TE 5] 44 46 90 15.6 74. 4
35 fif | BH ®E 49 47 96 21.6 74.4 |BHY
36 i | FZEC 1A 39 39 78 3.6 74. 4
37 L | AR TS 44 45 89 14. 4 74. 6
38 fif | finH EFE 49 52 101 26. 4 74. 6
39 7 | #% 55 52 107 32. 4 74.6
40 {7 | AT 3 49 57 106 31.2 74.8 | EAHY
41 A7 [{TN R 49 39 88 13.2 74.8
42 AL | EH A 46 41 87 12.0 75.0
43 DL | A Foss 45 45 90 14. 4 75.6
44 fr | Gk FETR 48 42 90 14. 4 75.6
45 {7 | ] E— 51 50 101 25. 2 75.8 | EAY
46 AL | & %1 54 47 101 25. 2 75.8
AT 7 | kG 1F 39 38 77 1.2 75.8 |BG
0 0

48 fr | FA7K 1HAT 47 47 94 18. 76.




B 55 RE A

BfEHA . A0 54E 9H17TH (H) B8 MY — BRI
BEE . WU TR SN 106N (B#E 96 A - Lotk : 9N)
HDCP E R : 99
fLE—L 0T O@@DR®O® IN DRBBB® 2/ 3)
FINEAZIRE « s (K& VWIE) Fll . %0 54 9A17H (H)
JIE 57 = INH 4 oUT IN GROSS | HDCP NET i &
49 fif | JHAK AN 47 46 93 16.8 76. 2
50 A7 | [ —KB 52 53 105 28. 8 76.2 |HAEY
51 fiz | 5LZ 43 50 93 16.8 76. 2
52 {f |[1EA 1E 46 46 92 15. 6 76. 4
53 {7 | fig A PR 50 48 98 21.6 76. 4
54 7 | 3O Hp 52 58 110 33.6 76. 4
55 fif | BEJL EX 45 53 98 21.6 76.4 |['HAY
56 1\ | A 53 45 98 21.6 76. 4
57 fif | Kl % 45 40 85 8.4 76. 6
58 i | =y =% 52 56 108 31.2 76.8
59 i | =1 F’e— 50 51 101 24.0 77.0
60 AL | AKF — 52 48 100 292. 8 7.2 |EHY
61 7 |IRE M 45 43 88 10. 8 77.2
62 N [Fapl 50 49 99 21.6 77. 4
63 AL |EAR Bir 55 50 105 27.6 77. 4
64 {7 | T 1T 43 44 87 9.6 77. 4
65 {7 | (LA fik 56 66 122 44. 4 77.6 |HEY
66 07 | R 5 50 53 103 25. 2 77.8
67 { | [ HE#EE 61 54 115 37.2 77.8
68 1L | ZCH Jikk 50 47 97 19. 2 77.8
69 {7 | #i)ll B— 55 54 109 31.2 77.8
70 {2 | FTH BET 50 46 96 18.0 78.0 |EAHV
71 i | FBH B A 41 43 84 6.0 78.0
72 0| A Gl 57 56 113 34. 8 78.2
73 L | BEH 3B 54 51 105 26. 4 78.6
74 AL | /NH O EBFD 56 55 111 32. 4 78.6
75 ff | /IME s 50 54 104 25.2 78.8 | HAY
76 i |INH ST 48 50 98 19.2 78.8
77 AL | =% J\ER 57 46 103 24.0 79.0
78 fir | FH A 52 51 103 24.0 79.0
79 AL | AH FKR 44 46 90 10. 8 79.2
80 N |HHVH Fih 46 44 90 10. 8 79.2 |HAY
81 1 | IUA HiZ 50 50 100 20. 4 79.6
82 . | =il Z&L 49 51 100 20. 4 79. 6
83 AL | I L AR 58 59 117 37.2 79.8
84 Nr | A # 53 58 111 31.2 79. 8
85 {ir | A7k & 48 44 92 12.0 80.0 ‘HAY
86 iz [/Alll EH T 50 47 97 16. 8 80. 2
87 fif | KA = 54 52 106 25.2 80. 8
88 fif | K¥z WhiFF R 59 59 118 37.2 80. 8
89 if | SR T 49 56 105 24.0 81.0
90 N [ Rk 48 51 99 18.0 81.0 |EHV
91 N |ITRR fe7Z2 61 61 122 40. 8 81.2
92 {7 | BEA A 53 50 103 21.6 81.4
93 A | ] F 66 70 136 54.0 82.0
94 {7 | 2R H 55 57 112 30.0 82.0
95 AL | /MATJE a4 49 56 105 22.8 82.2 |EHV
96 {ir | ME4 BLT 70 70 140 57.6 82. 4




B 55 RE A

BfEHA . A0 54E 9H17TH (H) B8 MY — BRI
B WU 7R eI & 1050 (BB - 96 N - Zctk - 9N)
HDCP E R : 99
fRLA—1: 0T O@@O®® IN V@BOB® 3/3)
FINEALIRTE @ A (K& VIE) Fll . %0 54 9A17H (H)
JIEAE. ZINE 4 oUT IN GROSS | HDCP NET %
97 {if | ARk EHIR 51 47 98 15. 6 82. 4
98 {ir | i1 % 58 56 114 31.2 82.8
99 N | BLA 5L3% 60 52 112 28.8 83.2
100 {37 | Fnsd, FIEH 52 57 109 25.2 83.8 |\ HAV
101 A7 | (UA e+ 63 57 120 36.0 84.0
102 {7 | B1BH # 56 55 111 26. 4 84.6
103 1 | A5 RER 62 59 121 33.6 87.4 |BB
104 A7 | M8 T8 63 62 125 36.0 89.0
N R |[EH #54




